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20 mod 15 =
6 mod 5 =
17 mod 15 =
18 mod 11 =
13 mod 6 =
6 mod 6 =
bmod 4 =
13 mod 3 =
8mod 7 =
9 mod 7 =
11 mod 2 =
14 mod 2 =
bmod 1 =
20 mod 4 =
19 mod 7 =
3mod 1 =
17mod 1 =
18 mod 16 =
7mod 3 =
20 mod 6 =

Modulo (remainder) up to 20

12mod 9 =
11 mod 1 =
20 mod 3 =
20 mod 2 =
15 mod 14 =
8 mod 2 =

19 mod 17 =
10 mod 4 =
14 mod 3 =
13 mod 9 =
7mod 1 =

16 mod 13 =
14 mod 8 =
4mod 1=

11 mod 7 =
18 mod 5 =
19 mod 3 =
14 mod 7=
19 mod 5 =
2mod 2 =
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18 mod 9 =
19 mod 9 =
13 mod 8 =
17 mod 12 =
12 mod 3 =
15 mod 12 =
13 mod 1 =
14mod 1=
15 mod 8 =
10 mod 3 =
16 mod 12 =
8 mod 4 =
18 mod 12 =
10 mod 6 =
6 mod 2 =
15 mod 7=
20 mod 1 =
16 mod 5 =
18 mod 10 =
19 mod 13 =

Modulo (remainder) up to 20

20 mod b =
4 mod 2 =

17 mod 2 =
19 mod 19 =
19 mod 4 =
13 mod 7 =
20 mod 11 =
7mod 4 =

9) 11 mod 9 =
0) 18 mod 14 =
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2) 17mod 13 =
3) 12mod 5 =
4) 9mod 1 =

5) 9mod 6 =

6) 13 mod 10 =
7) 12 mod 10 =
8) bmod 3 =

9) 4 mod 3 =
80) 20 mod 20 =
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Modulo (remainder) up to 20

81) 17mod9 = 101) 6 mod 3 =
82) 8mod 1= 102) 7mod 6 =
83) 16 mod 15 = 103) 19 mod 18 =
84) 18 mod 13 = 104) 18 mod 3 =
85) 19mod 1= 105) 19 mod 14 =
86) 17 mod 17 = 106) 8 mod 5 =
87) 4mod4 = 107) 16 mod 2 =
88) 12mod 1= 108) 12 mod 8 =
89) 20 mod 19 = 109) 16 mod 8 =
90) 14 mod 14 = 110) 20 mod 12 =
91) 11 mod 3 = 111) 15 mod 15 =
92) 15 mod 5 = 112) 3mod 3 =
93) 12mod 4 = 113) 15mod 1 =
94) 17mod 7= 114) 15 mod 9 =
95) 17 mod 4 = 115) 16 mod 9 =
96) 9modb5 = 116) 10 mod 2 =
97) 12mod 6 = 117) 20 mod 14 =
98) 16 mod 11 = 118) 19 mod 12 =
99) 14 mod 13 = 119) 10 mod 9 =
100) 13 mod 11 = 120) 12mod 7 =



Modulo (remainder) up to 20

15 mod 11 = 141) 17 mod 11 =
11 mod 6 = 142) 13 mod 13 =
17 mod b = 143) 19 mod 6 =
6 mod 1 = 144) 10 mod 1 =
17 mod 14 = 145) 9mod 3 =
10 mod 5 = 146) 18 mod 4 =
18 mod 1 = 147) 12mod 2 =
15 mod 13 = 148) 9 mod 8 =
17 mod 16 = 149) 17 mod 6 =
11 mod 8 = 150) 19 mod 2 =
11 mod 10 = 151) 11 mod 5 =
3 mod 2 = 152) 13 mod 5 =
13 mod 2 = 153) 16 mod 14 =
9 mod 9 = 154) 15 mod 10 =
15 mod 4 = 155) 10 mod 8 =
14 mod 9 = 156) 12 mod 12 =
18 mod 6 = 157) 7mod 2 =
12 mod 7 = 158) 10 mod 10 =
14 mod 4 = 159) 14 mod 11 =
16 mod 1 = 160) 14 mod 10 =



Modulo (remainder) up to 20

19 mod 16 = 181) 13 mod 4 =
14 mod 6 = 182) 10 mod 7 =
16 mod 10 = 183) 15 mod 2 =
16 mod 3 = 184) 16 mod 6 =
18 mod 6 = 185) 12 mod 11 =
11 mod 11 = 186) 20 mod 13 =
6 mod 4 = 187) 12mod 9 =
16 mod 7 = 188) 16 mod 15 =
19 mod 12 = 189) 19 mod 11 =
13 mod 5 = 190) 5 mod b =
7mod 6 = 191) 8 mod 3 =

4 mod 3 = 192) 11 mod 5 =
7mod 5 = 193) 18 mod 15 =
15 mod 6 = 194) 16 mod 4 =
14 mod 12 = 195) 9mod 4 =
19 mod 3 = 196) 9mod 2 =
11 mod 4 = 197) 17 mod 10 =
13 mod 12 = 198) 16 mod 14 =
19 mod 10 = 199) 11 mod 7 =
1 mod 1= 200) 8 mod 6 =



Modulo (remainder) up to 20

17 mod 8 = 221) 18 mod 17 =
20 mod 7 = 222) 15 mod 3 =
13 mod 8 = 223) 20 mod 8 =
11 mod 4 = 224) 18 mod 6 =
2mod 1 = 225) 16 mod 16 =
6 mod 3 = 226) 19 mod 7 =
18 mod 2 = 227) 12 mod 3 =
20 mod 18 = 228) 14 mod 5 =
17 mod 15 = 229) 19 mod 15 =
20 mod 17 = 230) 18 mod 12 =
19 mod 14 = 231) 17 mod 17 =
5 mod 2 = 232) 18 mod 3 =
8 mod 6 = 233) 17 mod 3 =
13 mod 2 = 234) 18 mod 18 =
16 mod b = 235) 15 mod 4 =
19 mod 6 = 236) 16 mod 6 =
18 mod 15 = 237) 8 mod 4 =

8 mod 8 = 238) 20 mod 10 =
9 mod 2 = 239) 9mod 8 =
16 mod 8 = 240) 11 mod 3 =



Modulo (remainder) up to 20

17 mod 2 = 261) 18 mod 7 =
11 mod 9 = 262) 7mod b5 =
16 mod 10 = 263) 12 mod 6 =
17 mod 16 = 264) 20 mod 9 =
15 mod 14 = 265) 15 mod 6 =
10 mod 6 = 266) 14 mod 13 =
15 mod 12 = 267) 15 mod 11 =
16 mod 1 = 268) 8 mod 2 =
7mod 7 = 269) 9 mod 5 =

9 mod 5 = 270) 5mod 2 =
19 mod 13 = 271) 10 mod 2 =
10 mod 8 = 272) 16 mod 16 =
9mod 4 = 273) 20 mod 16 =
8 mod 5 = 274) 18 mod 8 =
13 mod 6 = 275) 17 mod 14 =
8 mod 6 = 276) 10 mod 6 =
15 mod 14 = 277) 14 mod 13 =
17 mod 10 = 278) 16 mod 13 =
11 mod 8 = 279) 14 mod 4 =
13 mod 2 = 280) 18 mod 5 =



Modulo (remainder) up to 20

15 mod 2 = 301) 19 mod 17 =
10 mod 9 = 302) 10 mod 6 =
10 mod 1 = 303) 17 mod 4 =
19 mod 12 = 304) 19 mod 13 =
16 mod b = 305) 17 mod 9 =
8 mod 2 = 306) 9 mod 4 =
11 mod 3 = 307) 19 mod 6 =
13mod 1 = 308) 20 mod 5 =
3mod 1= 309) 14 mod 13 =
20 mod 1 = 310) 20 mod 1 =
10 mod 1 = 311) 19 mod 10 =
15 mod 7 = 312) 20 mod 1 =
18 mod 9 = 313) 7Tmod 2=
11 mod 5 = 314) 16 mod 1 =
8 mod 7 = 315) 20 mod 13 =
8 mod 2 = 316) 12 mod 12 =
8 mod 2 = 317) 12mod 4 =
20 mod 7 = 318) 17 mod 15 =
12 mod 6 = 319) 20 mod 8 =
6 mod 3 = 320) 14 mod 3 =



Modulo (remainder) up to 20

10 mod 6 = 341) 13 mod 9 =
bmod 1 = 342) 13 mod 12 =
16 mod 8 = 343) 19 mod 6 =
11 mod 3 = 344) 14 mod 10 =
12 mod 11 = 345) 4 mod 2 =
9mod 7 = 346) 17 mod 8 =
20 mod 2 = 347) 16 mod 3 =
10 mod 4 = 348) 17 mod 16 =
17 mod 6 = 349) 14 mod 3 =
13 mod 3 = 350) 19 mod 19 =
16 mod 2 = 351) 11 mod 9 =
9mod 1 = 352) 9mod 9 =
17 mod 13 = 353) 18 mod 17 =
13 mod 6 = 354) 7Tmod 7 =
7mod 5 = 355) 10 mod 2 =
17 mod 14 = 356) 18 mod 8 =
9 mod 6 = 357) 10 mod 4 =
19 mod 16 = 358) 19 mod 17 =
18 mod 2 = 359) 18 mod 16 =
7 mod 6 = 360) 6 mod 2 =



Modulo (remainder) up to 20

19 mod 10 = 381) 14 mod 10 =
13 mod 9 = 382) 17 mod 12 =
7mod 5 = 383) 18 mod 13 =
16 mod 12 = 384) 10 mod 1 =
6 mod 6 = 385) 10 mod 7 =
14 mod 7 = 386) 13 mod 10 =
19 mod 5 = 387) 20 mod 6 =
18 mod 16 = 388) 14 mod 1 =
16 mod 5 = 389) 18 mod 12 =
11 mod 3 = 390) 17 mod 17 =
15 mod 12 = 391) 19 mod 4 =
20 mod 14 = 392) 16 mod 15 =
16 mod 3 = 393) 13 mod 5 =
12 mod 6 = 394) 14 mod 1=
20 mod 14 = 395) 7Tmod 4 =
14 mod 10 = 396) 13 mod 9 =
17 mod 3 = 397) 19 mod 10 =
12 mod 12 = 398) 1mod 1=
15 mod 9 = 399) 12mod 7 =
7mod 4 = 400) 8 mod 5 =
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Modulo (remainder) up to 20

14 mod 2 = 421) 10 mod 2 =
20 mod 9 = 422) 8 mod 2 =
3mod 1 = 423) 13mod 7 =
16 mod 15 = 424) 14 mod 11 =
18 mod b = 425) 15 mod 9 =
13mod 1 = 426) 15 mod 3 =
19 mod 17 = 427) 20 mod 6 =
8 mod 6 = 428) Hmod 1 =
17 mod 13 = 429) 13 mod 4 =
18 mod 14 = 430) 7 mod 3 =
17 mod 16 = 431) 14 mod 7 =
15 mod 9 = 432) 10 mod 2 =
17 mod 6 = 433) 18 mod 1 =
12 mod 7 = 434) 14 mod 3 =
11 mod 9 = 435) 15 mod 5 =
4mod 1= 436) 15 mod 12 =
7mod 4 = 437) 10 mod 8 =
20 mod 13 = 438) 16 mod 3 =
19 mod 10 = 439) 18 mod 5 =
13mod 7 = 440) 11 mod 3 =
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Modulo (remainder) up to 20

11 mod 10 = 461) 18 mod 1 =
18 mod 17 = 462) 17 mod 9 =
11 mod 10 = 463) 16 mod 15 =
14 mod 2 = 464) 14 mod 6 =
12 mod 3 = 465) 11 mod 6 =
18 mod 8 = 466) 16 mod 5 =
13 mod 6 = 467) 19 mod 14 =
17 mod 5 = 468) 19 mod 9 =
9 mod 3 = 469) 13 mod 4 =
20 mod 8 = 470) 11 mod 6 =
11 mod 5 = 471) 10 mod 9 =
18 mod 4 = 472) 13 mod 2 =
17 mod 9 = 473) 19 mod 17 =
13 mod 10 = 474) 13 mod 5 =
19 mod 7 = 475) 15 mod 10 =
13 mod 3 = 476) 17 mod 9 =
15 mod 12 = 477) 12mod 7 =
15 mod 13 = 478) 15 mod 7 =
19 mod 18 = 479) 2mod 1 =
20 mod 18 = 480) 5 mod 3 =

12



Modulo (remainder) up to 20

6 mod 1 = 501) 17 mod 9 =
20 mod 7 = 502) 11 mod 6 =
10 mod 7 = 503) 20 mod 5 =
10 mod 4 = 504) 3 mod 2 =
17 mod b = 505) 20 mod 10 =
11 mod 6 = 506) 10 mod 10 =
16 mod 2 = 507) 11 mod 9 =
18 mod 12 = 508) 15 mod 7 =
13 mod 4 = 509) 17 mod 5 =
9 mod 4 = 510) 7 mod 3 =
19 mod 6 = 511) 8 mod 3 =
18 mod 12 = 512) 8 mod 6 =
17 mod 7 = 513) 9mod 8 =
13 mod 11 = 514) 17 mod 2 =
8 mod 7 = 515) 13 mod 11 =
12mod 1 = 516) 14 mod 7 =
18 mod 15 = 517) 13 mod 5 =
2mod 2 = 518) 15 mod 1 =
17 mod 4 = 519) 20 mod 7 =
17 mod 5 = 520) 6 mod 5 =
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Modulo (remainder) up to 20

9 mod 6 = 541) 18 mod 10 =
20 mod 17 = 542) 15 mod 10 =
8mod 1 = 543) 19 mod 16 =
15 mod 8 = 544) 14 mod 12 =
8 mod 6 = 545) 15 mod 3 =
18 mod 13 = 546) 19 mod 16 =
16 mod 13 = 547) 11 mod 1 =
6 mod 4 = 548) 5 mod 3 =

6 mod 2 = 549) 6 mod 1 =
11 mod 1 = 550) 18 mod 8 =
11 mod 1 = 551) 15 mod 10 =
16 mod 10 = 552) 11 mod 9 =
20 mod 9 = 553) 18 mod 10 =
17 mod 10 = 554) 17 mod 13 =
15 mod 13 = 555) 5 mod 1 =

4 mod 3 = 556) 12 mod 8 =
16 mod 7 = 557) 18 mod 4 =
12 mod 11 = 558) 17 mod 1 =
6 mod 4 = 559) 13 mod 12 =
17 mod 16 = 560) 20 mod 15 =

14



Modulo (remainder) up to 20

11 mod b = 581) 17 mod 2 =
7mod 5 = 582) 15 mod 8 =
13 mod 2 = 583) 11 mod 9 =
14 mod 4 = 584) 16 mod 6 =
2 mod 2 = 585) 20 mod 9 =
7mod 3 = 586) 9 mod 7 =
11 mod 6 = 587) 18 mod 1 =
9 mod 8 = 588) 17 mod 16 =
17 mod 8 = 589) 10 mod 7 =
20 mod 6 = 590) 10 mod 3 =
18 mod 13 = 591) 15 mod 3 =
2mod 1 = 592) 4 mod 2 =
19 mod 2 = 593) 8 mod 2 =
15 mod 6 = 594) 14 mod 8 =
18 mod 10 = 595) 13 mod 5 =
18 mod 16 = 596) 3 mod 3 =
16 mod 3 = 597) 18 mod 8 =
Hmod 2 = 598) 11 mod 4 =
19 mod 2 = 599) 19 mod 16 =
15 mod 6 = 600) 15 mod 8 =

15



Modulo (remainder) up to 20

16 mod 13 = 621) 15 mod 7 =
14 mod 7 = 622) 19 mod 1 =
20 mod 17 = 623) 13 mod 2 =
18 mod 5 = 624) 13 mod 2 =
8mod 1 = 625) 7mod 1 =
19mod 1 = 626) 5 mod 2 =
14 mod 14 = 627) 11 mod 6 =
14 mod 2 = 628) 16 mod 3 =
10 mod 6 = 629) 14 mod 14 =
4mod 1= 630) 9 mod 2 =
16 mod 9 = 631) 19 mod 11 =
17 mod 8 = 632) 16 mod 11 =
20 mod 11 = 633) 18 mod 14 =
19 mod 17 = 634) 6 mod 3 =
9mod 2 = 635) 13 mod 4 =
16 mod 9 = 636) 16 mod 3 =
16 mod 5 = 637) 16 mod 6 =
19 mod 18 = 638) 10 mod 9 =
15 mod 4 = 639) 18 mod 4 =
9 mod 3 = 640) 20 mod 1 =
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Modulo (remainder) up to 20

17 mod 16 = 661) 16 mod 13 =
13 mod 7 = 662) 20 mod 19 =
15mod 1 = 663) 17 mod 7 =
12mod 1 = 664) 15 mod 4 =
10 mod 4 = 665) 4 mod 3 =
20 mod 6 = 666) 8 mod 3 =
19 mod 15 = 667) 8 mod 3 =
19 mod 16 = 668) 13 mod 7 =
19 mod 18 = 669) 14 mod 7 =
14 mod b = 670) 17 mod 7 =
2mod 1 = 671) 13 mod 10 =
4 mod 3 = 672) 14 mod 5 =
19 mod 4 = 673) 16 mod 10 =
10 mod 5 = 674) 5 mod 4 =

4 mod 3 = 675) 16 mod 7 =
14 mod 12 = 676) 10 mod 1 =
11 mod 7 = 677) 14 mod 7 =
17 mod 14 = 678) 18 mod 9 =
12 mod 3 = 679) 12 mod 3 =
17 mod 8 = 680) 15 mod 3 =
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Modulo (remainder) up to 20

13 mod 6 = 701) 16 mod 12 =
19 mod 6 = 702) 20 mod 14 =
19 mod 12 = 703) 15 mod 9 =
15 mod 3 = 704) 19 mod 17 =
7mod 5 = 705) 6 mod 1 =
19 mod 18 = 706) 18 mod 15 =
19 mod 12 = 707) 15 mod 4 =
13 mod 4 = 708) 17 mod 8 =
17 mod 14 = 709) 4mod 2 =
15 mod 6 = 710) 15 mod 10 =
12 mod 6 = 711) 12mod 3 =
18 mod 11 = 712) 15 mod 11 =
20 mod 15 = 713) 8mod 7=
20 mod 11 = 714) 8 mod 2 =
13mod 11 = 715) 19 mod 8 =
6 mod 6 = 716) 20 mod 6 =
14 mod 12 = 717) 3mod 2 =

8 mod 3 = 718) 20 mod 12 =
8 mod 5 = 719) 18 mod 5 =
8 mod 7 = 720) 16 mod 7 =

18



Modulo (remainder) up to 20

19 mod 2 = 741) 11 mod 5 =
17 mod 7 = 742) 15 mod 8 =
20 mod 1 = 743) 15 mod 11 =
16 mod 15 = 744) 13 mod 12 =
18 mod 4 = 745) 17 mod 16 =
10 mod 7 = 746) 20 mod 13 =
20 mod 5 = 747) 7mod 6 =
19 mod 16 = 748) 8 mod 4 =
16 mod 4 = 749) 19 mod 19 =
17 mod 4 = 750) 13 mod 10 =
18 mod 16 = 751) 17 mod 12 =
19 mod 7 = 752) 12 mod 6 =
16 mod 4 = 753) 19 mod 6 =
18 mod 15 = 754) 13 mod 7 =
15 mod 11 = 755) 4 mod 4 =
14 mod 4 = 756) 17 mod 2 =
5mod 2 = 757) 16 mod 15 =
12 mod 12 = 758) 17 mod 4 =
10 mod b = 759) 19 mod 9 =
18 mod 14 = 760) 6 mod 1 =

19



Modulo (remainder) up to 20

15 mod 10 = 781) 10 mod 5 =
11 mod 1 = 782) 10 mod 6 =
6 mod 5 = 783) 8 mod 2 =
18 mod 9 = 784) 19 mod 9 =
12 mod 3 = 785) 16 mod 9 =
18 mod 9 = 786) 7 mod 2 =
18 mod b = 787) 20 mod 1 =
15 mod 14 = 788) 20 mod 13 =
17 mod 13 = 789) 13 mod 4 =
13 mod 7 = 790) 18 mod 18 =
14 mod 2 = 791) 4mod 2 =
13 mod 5 = 792) 15 mod 2 =
10 mod 1 = 793) 18 mod 13 =
9 mod 9 = 794) 6 mod 4 =
16 mod 15 = 795) 17 mod 2 =
13 mod 6 = 796) 20 mod 6 =
3mod 1 = 797) 10mod 1 =
13 mod 10 = 798) 7Tmod 7 =
20 mod 16 = 799) 20 mod 10 =
6 mod 4 = 800) 20 mod 15 =

20



Modulo (remainder) up to 20

4 mod 3 = 821) 19 mod 9 =
11 mod 1 = 822) 13 mod 11 =
20 mod 12 = 823) 20 mod 15 =
20 mod 4 = 824) 13 mod 11 =
6 mod 4 = 825) 18 mod 8 =
14 mod 7 = 826) 15 mod 10 =
12 mod 12 = 827) 19 mod 15 =
17 mod 17 = 828) 20 mod 9 =
18 mod 15 = 829) 3 mod 2 =
18 mod 2 = 830) 17 mod 16 =
13 mod 11 = 831) 7mod 5 =
17 mod 9 = 832) 7Tmod 2=
12 mod 3 = 833) 19 mod 3 =
18 mod 3 = 834) 18 mod 11 =
11 mod 3 = 835) 6 mod 6 =
12 mod 3 = 836) 17 mod 9 =
13 mod 5 = 837) 16 mod 4 =
13 mod 10 = 838) 11 mod 4 =
14 mod 10 = 839) 20 mod 18 =
11 mod 5 = 840) 20 mod 15 =

21



Modulo (remainder) up to 20

20 mod 12 = 861) 10 mod 4 =
11 mod 8 = 862) 3 mod 3 =
15 mod 11 = 863) 13 mod 9 =
18 mod 10 = 864) 6 mod 4 =
17 mod 16 = 865) 3 mod 1 =
13mod 11 = 866) 18 mod 15 =
11 mod 3 = 867) 17 mod 11 =
7Tmod 1 = 868) 12 mod 12 =
13 mod 1 = 869) 13 mod 7 =
10 mod 4 = 870) 13mod 1 =
15mod 1 = 871) 17 mod 9 =
8 mod 2 = 872) 16 mod 13 =
20 mod 19 = 873) 15mod 1 =
13 mod 8 = 874) 17 mod 5 =
17 mod 3 = 875) 10 mod 5 =
17mod 1 = 876) 15 mod 2 =
12 mod 7 = 877) 7mod 5 =
14 mod 4 = 878) 17mod 1 =
15 mod 10 = 879) 20 mod 8 =
13 mod 12 = 880) 9 mod 8 =
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Modulo (remainder) up to 20

20 mod 9 = 901) 11 mod 6 =
15 mod 9 = 902) 19 mod 3 =
20 mod 17 = 903) 15 mod 5 =
10 mod 8 = 904) 15 mod 6 =
19 mod 11 = 905) 19 mod 17 =
10 mod 4 = 906) 17 mod 6 =
14 mod 7 = 907) 11 mod 7 =
16 mod 3 = 908) 10 mod 4 =
7mod 5 = 909) 10 mod 8 =
13 mod 3 = 910) 20 mod 13 =
15 mod 11 = 911) 15 mod 2 =
16 mod 2 = 912) 6 mod 2 =
13 mod 4 = 913) 12mod 6 =
16 mod 11 = 914) 6 mod 5 =
13 mod 2 = 915) 17 mod 13 =
14 mod 2 = 916) 10 mod 7 =
8 mod 6 = 917) 18 mod 7 =
16 mod 9 = 918) 17 mod 11 =
15 mod 2 = 919) 9mod 7 =
20 mod 11 = 920) 11 mod 8 =
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Modulo (remainder) up to 20

18 mod 4 = 941) 9mod 3 =
18 mod 16 = 942) 20 mod 1 =
14 mod 4 = 943) 15 mod 6 =
4 mod 3 = 944) 14 mod 6 =
16 mod 14 = 945) 20 mod 16 =
17 mod 2 = 946) 12 mod 4 =
17 mod 3 = 947) 6 mod 1 =
18 mod 4 = 948) 4 mod 3 =

8 mod 3 = 949) 14 mod 12 =
6 mod 4 = 950) 13 mod 5 =
15 mod b = 951) 12 mod 2 =
15 mod 3 = 952) 15 mod 14 =
10 mod 7 = 953) 8 mod 5 =
13 mod 7 = 954) 9 mod 6 =
16 mod 8 = 955) 5 mod 3 =
17 mod 8 = 956) 18 mod 18 =
17 mod 12 = 957) 8 mod 5 =
13 mod 10 = 958) 17 mod 2 =
17 mod 3 = 959) 13 mod 1 =
12mod 9 = 960) 5 mod 1 =

24



Modulo (remainder) up to 20

10 mod 8 = 981) 14 mod 2 =
5 mod 4 = 982) 19 mod 8 =
20 mod 7 = 983) 20 mod 6 =
20 mod 15 = 984) 13 mod 9 =
15 mod 13 = 985) 18 mod 13 =
18 mod 3 = 986) 12mod 1 =
2 mod 2 = 987) 20 mod 9 =
15 mod 3 = 988) 20 mod 4 =
9 mod 2 = 989) 18 mod 1 =
18 mod 7 = 990) 20 mod 1 =
19 mod 14 = 991) 19 mod 7 =
20 mod 19 = 992) 17 mod 16 =
17 mod 6 = 993) 7mod 1=
14 mod 11 = 994) 15 mod 14 =
10 mod 3 = 995) 1lmod 1=
13mod 7 = 996) 10 mod 5 =
19 mod 17 = 997) 19 mod 3 =
20 mod 9 = 998) 17 mod 4 =
14 mod 11 = 999) 19 mod 17 =

15 mod 4 = 1000) 17 mod 15 =

25
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Modulo (remainder) up to 20 (Solutions)

20 mod 15 =5
6modb=1
17mod 15 = 2
I8mod 11 =7
13mod6=1
6 mod 6 =0
bmod4d =1
I3mod3=1
Smod7=1
9mod 7 = 2
ITmod2=1
14mod2=0
bmod 1 =0
20mod4=0
19mod 7=5
3mod1=0
17mod 1 =0
18 mod 16 = 2
7mod3=1
20 mod 6 = 2
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12mod 9 =3
I1Tmod1=0
20 mod 3 = 2
20mod 2 =0
15mod 14 =1
8mod 2 =0

19 mod 17 =2
10 mod 4 = 2
14 mod 3 = 2
13mod9=4
7mod 1 =0

16 mod 13 =3
14mod 8 =6
4mod1=0

11 mod 7 =4
18 mod 5 =3
19mod3=1
4mod 7=0
19 mod 5 =4
2mod 2=0

26



Modulo (remainder) up to 20 (Solutions)

18 mod 9 =0 61) 20 mod 5 =0
1I9mod 9 =1 62) 4mod2=0
13mod 8 =5 63) 17mod 2 =1
17mod 12=5 64) 19 mod 19 =0
12mod 3 =0 65) 19 mod4 =3
15mod 12=3 66) 13mod7=6
1I3mod1=0 67) 20mod 11 =9
l4mod1=0 68) 7mod 4 =3
15mod8=7 69) 11 mod 9 =2
10mod 3=1 70) 18 mod 14 =4
16 mod 12 =4 71) 19mod8=3
8mod4 =0 72) 17mod 13 =4
18 mod 12 =6 73) 12mod b5 =2
10 mod 6 = 4 74) 9mod1 =0
6 mod2=0 75) 9mod 6 =3
I5mod 7=1 76) 13 mod 10 =3
20mod 1 =0 77) 12 mod 10 = 2
l6modb=1 78) 5 mod 3 =2
18 mod 10 = 8 79) 4mod 3 =1
19 mod 13 =6 80) 20 mod 20 =0

27



Modulo (remainder) up to 20 (Solutions)

17mod 9 =8
8mod1=0

16 mod 15 =1
18 mod 13 =5
19mod1=0
17mod 17=0
4mod4=0

12mod 1 =0
20mod 19 =1
14mod 14 =0
11 mod 3 =2
15mod 5=0
12mod4 =0
17mod 7= 3
17mod4 =1
9mod H =4

12mod 6 =0
16 mod 11 =5
14mod 13 =1
13 mod 11 =2
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6mod3=0

7Tmod 6 =1

19mod 18 =1
I8 mod 3=0
19 mod 14 =5
8mod 5 =3

16 mod2=20
12mod 8 =4
16 mod 8 =0
20 mod 12 =8
15mod 15=0
3mod3=0

15mod1=0
15mod 9 =6
16 mod 9 =7
10mod2=0
20 mod 14 =6
19mod 12=7
10mod9=1
12mod 7=5



Modulo (remainder) up to 20 (Solutions)

15mod 11 =4
11mod 6 =5
17mod 5 = 2
6mod1=0

17mod 14 =3
10 mod 5 =0
18 mod1=0
15 mod 13 =2
17mod 16 =1
11 mod 8 =3
11Tmod 10 =1
3mod2=1

13mod2=1
9mod 9=0

15mod4 =3
14mod 9 =5
18 mod 6 =0
12mod 7= 5
14 mod 4 = 2

16mod1 =0

141)
142)
143)
144)
45)
46)
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17mod 11 =6
13mod 13 =0
19mod6=1
10mod1=0
9mod 3 =0

18 mod 4 = 2
12mod2=0
9mod 8 =1

17mod 6 =5
1I9mod2=1
I Tmod5=1
13mod 5=3
16 mod 14 = 2
15mod 10 =5
10 mod 8 = 2
12mod 12=0
7Tmod2=1

10 mod 10 =0
14 mod 11 =3
14 mod 10 =4



Modulo (remainder) up to 20 (Solutions)

19 mod 16 = 3 181) 13mod4=1
14 mod 6 = 2 182) 10mod 7= 3
16 mod 10 = 6 183) 15mod2=1
lI6mod3 =1 184) 16 mod 6 = 4
18 mod 6 =0 185) 12mod 11 =1
11mod11=0 186) 20 mod 13 =17
6 mod 4 = 2 187) 12mod 9 =3
16 mod 7 = 2 188) 16 mod 15 =1
19mod 12=7 189) 19 mod 11 = 8
13mod 5 =3 190) 5mod 5=0
7Tmod 6 =1 191) 8 mod 3 =2
4mod3 =1 192) 11modb5=1
7mod b = 2 193) 18 mod 15 =3
15mod 6 =3 194) 16mod4=0
14 mod 12 = 2 195) 9mod4 =1
19mod3=1 196) 9mod2=1
11 mod4=3 197) 17mod 10=7
13mod 12 =1 198) 16 mod 14 = 2
19mod 10 =9 199) 11 mod 7=4
lmod1=0 200) 8 mod 6 = 2
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Modulo (remainder) up to 20 (Solutions)

17mod8 =1
20mod 7= 6
13mod 8 =5
11mod4 =3
2mod 1 =0

6 mod 3 =0

18 mod2=0
20 mod 18 = 2
17mod 15 = 2
20 mod 17 =3
19mod 14 =5
bmod2=1

8mod 6 = 2

13mod2=1
16 modb=1
19mod6=1
18 mod 15 =3
8mod 8=0

9mod2=1

16 mod 8 =10

18 mod 17 =1
15mod 3=0
20mod 8 =4
18 mod 6 =0
16 mod 16 =0
19mod7=5
12mod 3 =0
l4mod5=4
19mod 15 =4
18 mod 12 =6
17mod 17=0
I8 mod 3=0
17 mod 3 = 2
18 mod 18 =0
15mod4 =3
16 mod 6 =4
8mod4 =0

20 mod 10 =10
9mod 8 =1

11 mod 3 = 2



Modulo (remainder) up to 20 (Solutions)

17mod2=1
11 mod 9 = 2
16 mod 10 = 6
17mod 16 =1
15mod 14 =1
10 mod 6 = 4
15mod 12 =3
16mod1=0
7Tmod 7=0

9mod H =4

19 mod 13 =6
10 mod 8 = 2
9mod4 =1

8mod 5 =3

13mod6=1
8 mod 6 = 2

15mod 14 =1
17mod 10 =7
11 mod 8 =3
13mod2=1

1I8mod 7=4
7mod 5 = 2

12mod 6 =0
20 mod 9 = 2
15mod 6 =3
l4mod 13 =1
I15mod 11 =4
8mod 2=0

9mod H =4

bmod2=1

10mod2=0
16 mod 16 =0
20 mod 16 =4
18 mod 8 = 2
17mod 14 =3
10 mod 6 =4
l4mod 13 =1
16 mod 13 =3
14 mod 4 = 2
18 mod 5 =3



Modulo (remainder) up to 20 (Solutions)

5mod2=1 301) 19 mod 17 = 2
10 mod 9 =1 302) 10 mod 6 =4
10mod1=0 303) 17mod4 =1
19mod 12=7 304) 19 mod 13 =6
16 mod 5 = 1 305) 17 mod 9 = 8
8 mod 2=0 306) 9mod4 =1
11 mod 3 = 2 307) 19 mod 6 = 1
13mod1=0 308) 20 mod 5 =0
3mod1=0 309) 14mod 13 =1
20mod 1 =0 310) 20mod 1 =0
10mod1=0 311) 19 mod 10 =9
Ibmod7=1 312) 20mod 1 =0
18 mod 9=0 313) Tmod2=1
ITmodb=1 314) 16mod 1 =0
8mod 7=1 315) 20mod 13 =7
8 mod 2 =0 316) 12mod 12=0
8mod2=0 317) 12mod 4 =0
20mod 7=6 318) 17 mod 15 =2
12mod 6 =0 319) 20 mod 8 =4
6 mod 3=0 320) 14 mod 3 = 2
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Modulo (remainder) up to 20 (Solutions)

13mod9 =4
13mod 12 =1
19mod6=1
14mod 10 =4
4mod2=0

17mod 8=1
16 mod 3 =1

10 mod 6 = 4 341)

S5mod1=0 342)

16 mod 8 =0 343)

11 mod 3 = 2 344)

12mod 11 =1 345)

9mod 7= 2 346)

20mod 2=10 347)

10 mod 4 = 2 348) 17mod 16 =1
17mod 6 =5 349) 14 mod 3 = 2
13mod3 =1 350) 19 mod 19 =0
16 mod2=0 351) 11 mod 9 = 2
9mod1=0 352) 9mod 9=0
17mod 13 =4 353) 18 mod 17 =1
I3mod6=1 354) Tmod7=0
7mod b =2 355) 10 mod 2 =0
17mod 14 = 3 356) 18 mod 8 = 2
9 mod 6 = 3 357) 10 mod 4 = 2
19 mod 16 = 3 358) 19 mod 17 = 2
I8 mod2=0 359) 18 mod 16 = 2
7Tmod 6 =1 360) 6 mod 2 =10
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Modulo (remainder) up to 20 (Solutions)

14mod 10 =4
17mod 12 =5
18 mod 13 =5
10mod1=0
10 mod 7= 3
13 mod 10 =3
20 mod 6 = 2

19mod 10=9 381)

13 mod 9 =4 382)

7modb =2 383)

16 mod 12 = 4 334)

6 mod 6 = 0 385)

14mod 7=0 386)

19 mod 5 = 4 387)

18 mod 16 = 2 388) 14mod1=0
I6modb=1 389) 18 mod 12 =6
11 mod 3 = 2 390) 17mod 17=0
15mod 12 =3 391) 19mod4 =3
20 mod 14 =6 392) 16 mod 15 =1
16 mod 3 = 1 393) 13mod 5 = 3
12mod 6 =0 394) 14mod1=0
20mod 14 =6 395) 7Tmod4 =3
14 mod 10 = 4 396) 13 mod 9 =4
17 mod 3 = 2 397) 19 mod 10 =9
12mod 12=0 398) 1mod1=0
15mod 9 =6 399) 12mod 7=5
7Tmod4 =3 400) 8 mod 5 =3
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Modulo (remainder) up to 20 (Solutions)

14mod2=0
20 mod 9 = 2
3mod1=0

16 mod 15 =1
18 mod b =3
13mod1=0
19 mod 17 =2
8 mod 6 = 2

17mod 13 =4
18 mod 14 =4
17mod 16 =1
15mod 9 =6
17mod 6 =5
12mod 7=5
11 mod 9 = 2
4mod1=0

7mod 4 =3

20mod 13 =7
19 mod 10 =9

13mod 7=6

10mod2=0
8mod 2=0

13mod 7=6
14mod 11 =3
15mod 9 =6
15mod 3 =0
20 mod 6 = 2
bmod1=0

I3mod4=1
7mod 3 =1

l4mod 7=0
10mod2=0
1I8mod1=0
14 mod 3 = 2
15mod5=0
15mod 12 =3
10 mod 8 = 2
16mod3=1
I8 mod 5 =3
11 mod 3 = 2



Modulo (remainder) up to 20 (Solutions)

1Tmod 10=1
I8 mod 17=1
1Tmod 10 =1
14mod2=0
12mod 3=0
18 mod 8 = 2
I3mod6=1
17 mod 5 = 2
9mod 3 =0

20 mod 8 =4
ITmod5=1
18 mod 4 = 2
17mod 9 =8
13 mod 10 =3
19mod7=5
I3mod3=1
15mod 12 =3
15 mod 13 =2
19mod 18 =1

20 mod 18 = 2

1I8mod1=0
17mod 9 =8
16 mod 15 =1
14 mod 6 = 2
I1Tmod 6 =25
16 modb=1
19 mod 14 =5
19mod9=1
13mod4=1
11mod 6 =5
10 mod 9 =1
13mod2=1
19 mod 17 = 2
13mod b =3
15 mod 10 =5
17mod 9 =8
12mod 7= 5
Ibmod 7=1
2mod 1 =0

bmod 3 = 2



Modulo (remainder) up to 20 (Solutions)

6mod1=0

20mod 7= 6
10 mod 7= 3
10 mod 4 = 2
17 mod 5 = 2
1Tmod6=25
16 mod2=0
18 mod 12 =6
1I3mod4=1
9mod4 =1

19mod6=1
18 mod 12 =6
17mod 7= 3
13 mod 11 = 2
Smod7=1

12mod1=0
18 mod 15 =3
2mod2=0

17Tmod4 =1

17 mod 5 =2

ot ot ot Oov Qv Qv Qv Ot ot Ot Cov Qv QOv Qv Ot

17mod 9 =8
11mod 6 =5
20mod 5=0
3mod2=1

20 mod 10 =10
10 mod 10 =0
11 mod 9 = 2
Ibmod 7=1
17 mod 5 = 2
7mod 3 =1

8 mod 3 = 2

8mod 6 = 2

9mod8=1

17mod2=1
13 mod 11 = 2
l4mod 7=0
13mod 5=3
I15mod1=0
20mod 7=6
6modbH =1



Modulo (remainder) up to 20 (Solutions)

9mod 6 =3
20 mod 17 =3
8mod1=0
15mod 8 =7
8mod 6 = 2
18 mod 13 =15
16 mod 13 =3
6 mod 4 = 2
6 mod 2=0
ITmod1=0
ITmod1=0
16 mod 10 = 6
20 mod 9 = 2
17mod 10 =7
15 mod 13 =2
4dmod3 =1
16 mod 7= 2
12mod 11 =1
6 mod 4 = 2
17mod 16 =1

18 mod 10 = 8
15mod 10 =5
19 mod 16 = 3
14 mod 12 = 2
15mod3=0
19 mod 16 = 3
I Tmod1=0
bmod 3 =2

6mod1=0

18 mod 8 = 2
15mod 10 =5
11 mod 9 =2
18 mod 10 = 8
17mod 13 =4
bmod1=0

12mod 8 =4
18 mod 4 = 2
17mod1=0
13mod 12 =1
20mod 15 =5



Modulo (remainder) up to 20 (Solutions)

I Tmodb5=1
7mod 5 = 2
13mod2=1
14 mod 4 = 2
2mod 2=0
7Tmod3=1
11 mod 6 =5
9mod 8 =1
17mod8 =1
20 mod 6 = 2
I8 mod 13 =5
2mod 1 =0
1I9mod2=1
15mod 6 =3
18 mod 10 =8
18 mod 16 = 2
16mod3=1
bmod2=1
19mod2=1

15 mod 6 = 3

17mod2=1
15mod 8 =7
11 mod 9 = 2
16 mod 6 =4
20 mod 9 = 2
9mod 7= 2

18 mod1 =0
17mod 16 =1
10 mod 7= 3
10mod3=1
15mod 3=0
4mod2=0

8mod2=0

14 mod 8=6
13mod b =3
3mod3=0

18 mod 8 = 2
11mod4=3
19 mod 16 = 3
I15mod 8=7



Modulo (remainder) up to 20 (Solutions)

16 mod 13 =3
l4mod 7=0
20 mod 17 =3
I8 mod 5 =3
8mod1=0

19mod1=0
14mod 14 =0
14mod2=0
10 mod 6 =4
4mod1=0

16 mod 9 =7
17Tmod 8 =1
20mod 11 =9
19 mod 17 =2
9mod2 =1

16 mod 9 =7
16modb5=1
19mod 18 =1
15mod4 =3

9mod3=0

I5mod 7=1
19mod1=0
I3mod2=1
I3mod2=1
7mod1=0

bmod2=1

11 mod 6 =5
16mod3=1
14mod 14 =0
9mod2=1

19mod 11 =8
16 mod 11 =5
1I8mod 14 =4
6 mod 3 =0

13mod4 =1
l6mod3=1
16 mod 6 =4
10mod9=1
18 mod 4 = 2
20mod1=0



Modulo (remainder) up to 20 (Solutions)

17mod 16 =1
13mod 7=6
I15mod1=0
12mod 1 =0
10 mod 4 = 2
20 mod 6 = 2
19mod 15=4
19 mod 16 = 3
19 mod 18 =1
l4mod5=4
2mod 1 =0

4mod3=1

19mod4 =3
10 mod 5 =0
4mod3=1

14 mod 12 =2
1 1mod 7=4
17mod 14 =3
12mod 3=0

17mod8&8 =1

16 mod 13 =3
20mod 19 =1
17mod 7=3
15mod4 =3
4mod3 =1

8 mod 3 = 2

8 mod 3 = 2

13mod 7=6
14mod 7=0
17mod 7= 3
13mod 10 =3
l4mod5=4
16 mod 10 = 6
bmod4 =1

16 mod 7 = 2
10mod1=0
l4mod 7=0
18 mod 9=0
12mod 3=0
15mod3=0



Modulo (remainder) up to 20 (Solutions)

13mod6=1 701) 16 mod 12=4
19mod 6 =1 702) 20mod 14 =6
19mod 12=7 703) 15mod 9 =6
15mod3=0 704) 19 mod 17 =2
7mod b =2 705) 6mod 1 =0
19mod 18 =1 706) 18 mod 15 =3
19mod 12=7 707) 15mod 4 =3
13mod4=1 708) 17mod 8 =1
17mod 14 = 3 709) 4 mod2=0
15 mod 6 = 3 710) 15mod 10 =5
12mod 6 =0 711) 12mod 3 =0
I8 mod 11 =7 712) 15mod 11 =4
20mod 15 =5 713) 8mod 7=1
20mod 11 =9 714) 8 mod2=0
13 mod 11 = 2 715) 19 mod 8 = 3
6 mod 6 =0 716) 20 mod 6 = 2
14 mod 12 = 2 717) 3mod 2 =1

8 mod 3 = 2 718) 20mod 12 =8
8 mod b =3 719) 18 mod 5 =3
8mod7=1 720) 16 mod 7 = 2
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Modulo (remainder) up to 20 (Solutions)

1I9mod2=1
17mod 7= 3
20mod1 =0
16 mod 15 =1
18 mod 4 = 2
10 mod 7= 3
20mod 5 =0
19 mod 16 = 3
16 mod4=0
17mod4=1
18 mod 16 = 2
19mod 7=5
16 mod4 =0
18 mod 15 =3
15mod 11 =4
14 mod 4 = 2
bmod2=1

12mod 12=0
10 mod 5=0

18 mod 14 =4

ITmodb5=1
15mod 8 =7
I15mod 11 =4
13mod 12 =1
17mod 16 =1
20mod 13 =7
7Tmod6=1

8mod4 =0

19mod 19 =0
13mod 10 =3
17mod 12=5
12mod 6 =0
19mod6=1
13mod 7=6
4mod4=0

17Tmod2=1
16 mod 15 =1
17Tmod4=1
19mod9=1
6mod1=0



Modulo (remainder) up to 20 (Solutions)

10 mod 5=0
10 mod 6 = 4
8mod2=0

19mod9=1
16 mod 9 =7
7Tmod2=1

20mod 1 =0
20mod 13 =7

15mod 10 =5 781)

ITmod1=0 782)

6 mod b =1 783)

18 mod 9 =0 784)

12 mod 3 = 0 785)

1I8mod 9 =0 786)

18 mod 5 =3 787)

15mod 14 =1 788)

17mod 13 =4 789) 13mod4 =1
13mod 7=6 790) 18 mod 18 =0
14mod2=0 791) 4mod2=0
13mod b =3 792) 15mod2=1
10mod1=0 793) 18 mod 13 =5
9mod 9 =0 794) 6 mod 4 = 2
16 mod 15 =1 795) 17mod 2 =1
13mod6=1 796) 20 mod 6 = 2
3mod1=0 797) 10mod 1 =0
13 mod 10 = 3 798) Tmod7=0
20 mod 16 = 4 799) 20 mod 10 =0
6 mod 4 = 2 800) 20 mod 15 =5
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Modulo (remainder) up to 20 (Solutions)

19mod9=1
13 mod 11 = 2
20mod 15 =5
13mod 11 =2
18 mod 8 = 2
15mod 10 =5
19mod 15=4

4mod3 =1 821)

ITmod1=0 822)

20 mod 12 = 8 823)

20 mod 4 = 0 824)

6 mod 4 = 2 825)

14mod 7=0 826)

12mod 12=0 827)

17mod 17=0 828) 20 mod 9 = 2
18 mod 15 = 3 829) 3mod2=1
18mod2=0 830) 17mod 16 =1
13 mod 11 = 2 831) 7mod 5 =2
17mod 9 =8 832) Tmod2=1
12mod 3=0 833) 19mod3 =1
18 mod 3 =0 834) 18mod 11 =7
11 mod 3 = 2 835) 6 mod 6 =0
12mod3=0 836) 17 mod 9 =8
13mod 5 =3 837) 16 mod 4 =0
13 mod 10 = 3 838) 11 mod4 =3
14 mod 10 = 4 839) 20 mod 18 = 2
I1modb=1 840) 20 mod 15 =5
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Modulo (remainder) up to 20 (Solutions)

20 mod 12 =8
11 mod 8 =3
I15mod 11 =4
18 mod 10 = 8
17mod 16 =1
13 mod 11 = 2
11 mod 3 = 2
7mod1=0

13mod1=0
10 mod 4 = 2
I5mod1=0
8mod2=0

20mod 19 =1
13mod 8 =5
17 mod 3 = 2
17mod1=0
12mod 7= 5
14 mod 4 = 2
15mod 10 =5

13mod 12=1

10 mod 4 = 2
3mod3=0

13mod 9 =4
6 mod 4 = 2

3mod1=0

18 mod 15 =3
17mod 11 =6
12mod 12=0
13mod 7=6
13mod1=0
17mod 9 =8
16 mod 13 =3
15mod1=0
17 mod 5 = 2
10 mod 5 =0
Ibmod2=1
7mod b =2

17mod1=0
20mod 8 =4
9mod8=1



Modulo (remainder) up to 20 (Solutions)

20 mod 9 = 2 901) 11mod6 =5
15mod 9 =6 902) 19mod3 =1
20 mod 17 =3 903) 15mod 5 =0
10 mod 8 = 2 904) 15 mod 6 =3
19mod 11 =8 905) 19 mod 17 =2
10 mod 4 = 2 906) 17 mod 6 =5
14mod7=0 907) 11 mod7=4
16 mod 3 =1 908) 10 mod 4 = 2
7mod b = 2 909) 10 mod 8 = 2
13mod3=1 910) 20mod 13 =7
15 mod 11 =4 911) 15mod2 =1
16 mod2=0 912) 6mod2=0
I3mod4=1 913) 12mod 6 =0
16 mod 11 =5 914) 6mod 5 =1
13mod2=1 915) 17mod 13 =4
14mod2=0 916) 10mod 7= 3
8 mod 6 = 2 917) 18 mod 7 =4
16 mod9 =7 918) 17mod 11 =6
1bmod2=1 919) 9mod 7 =2
20mod 11 =9 920) 11 mod 8 =3
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Modulo (remainder) up to 20 (Solutions)

18 mod 4 = 2
18 mod 16 = 2
14 mod 4 = 2
4mod3=1

16 mod 14 = 2
17mod2=1
17 mod 3 = 2
18 mod 4 = 2
8 mod 3 = 2

6 mod 4 = 2

15mod 5=0
15mod 3=0
10 mod 7= 3
13mod 7=6
16 mod 8 =0
17mod8 =1
17mod 12 =5
13mod 10 =3
17 mod 3 = 2

12mod 9 =3

9mod 3 =0
20mod 1 =0
15mod 6 =3
14 mod 6 = 2
20 mod 16 =4
12mod4 =0
6mod1=0
4dmod3 =1
14 mod 12 = 2
13mod 5=3
12mod2 =0
15mod 14 =1
8mod 5 =3
9mod 6 =3
bmod 3 =2
18 mod 18 =0
8modbH =3
17Tmod2=1
13mod1=0
bmod1=0



Modulo (remainder) up to 20 (Solutions)

10 mod 8 = 2 981) 14mod2=0
bmod4d=1 982) 19 mod 8 =3
20mod 7= 6 983) 20 mod 6 = 2
20 mod 15 =5 984) 13mod 9 =4
15 mod 13 = 2 985) 18 mod 13 =5
I8 mod 3=0 986) 12mod 1 =0
2mod 2=0 987) 20 mod 9 = 2
15mod 3=0 988) 20mod 4 =0
9mod 2 =1 989) 18 mod 1 =0
18 mod 7 =4 990) 20mod 1 =0
19mod 14 =5 991) 19mod7=5
20mod 19 =1 992) 17 mod 16 =1
17mod 6 =5 993) 7mod 1 =0

14 mod 11 =3 I5mod 14 =1
10mod 3 =1 I1mod1=0
13mod 7=6 10 mod 5 =0
19 mod 17 = 2 19mod3=1
20 mod 9 = 2 17Tmod4=1
14mod 11 =3 19 mod 17 = 2
15mod4 =3 17mod 15 = 2



